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Summary

The existing inspection cost for the agricultural infrastructure facilities has
been well equipped by considering the characteristics of each facility. However,
some facilities, such as reservoirs and embankments will need to supplement,
and the inspection cost for the irrigation/drainage pump station is required to
apply an adjustment ratio by the facility dimensions. To complement the
mspection costs for reservoirs and dikes, it is suggested that an adjustment
ratio be applied with the length and height of the facility.

In this study, complementary revision of consideration diagnosis of
current is required to conduct a statistical analysis as data infrastructure
and agricultural survey site. And the consideration diagnostic advice from
experts in the domestic consider the validity and problems, we have
established a standard of precision inspection facility consideration some
of the plains and complementary diagnostic consideration.

Review the adjustment costs of the length of the dike that is currently
in use, the reservoir is presented in the form of the following equation:
Equation 1 to calculate the two adjustment costs at a point of inflection
in the 400m length. The data of reservoirs and pump stations managed by
KRC(Korea Rural Community Corporation) and counties have been collected to
perform the histogram analysis for the length and height of the reservoir
embankment.

Current adjustment costs of the length of the first-class embankment
1s different for each extension applied, we suggested the three primary
equation considering the cost of the adjustment. For the adjustment costs
of the length of second-class embankment and standard tidal gate of
first-and-second-class embankment did not change the adjust existing
costs to consider the applicability of statistical data.

For the first—class pump stations, it is proposed that the weighted factor of
the adjustment ratio should be applied to the total horse power and the

number of pump stations since there was a huge deviation in them. Therefore
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the linear formula of the adjustment ratio for the total horse power and the
number of pump stations are presented to adjust the existing costs. For the
Second—class pump stations, there are not presented to adjust the existing

costs because of stable statistical variations and less five persons about
direct labour cost man compared with first-class pump stations.

Also, there is no inspection cost standard for several third-class facilities
such as small pump station of 1,000Hp or less, diversion weir, inverted siphon
and drainage trench. So, the study presents a possible inspection cost standard
for these facilities.

For diversion weir, the standard dimensions have been given of a 100m
length, 1.0m width and length of crest, respectively, and 9.0m long apron. The
required manpower to diagnose a diversion weir is a total of 24.6(25) persons:
13.3 persons for fieldwork and 11.3 persons for office work.

For drainage trench, the standard dimensions has been given of 1.5mx1.5m
sized, one channel of 500m long Reinforced Concrete Box. The required
manpower to diagnose a drainage trench is a total of 26.7(27) persons: 13.8
persons for fieldwork and 12.9 persons for office work.

For inverted siphon, the standard dimensions and the required manpower has
been used with those of drainage trench. However, water scooping should be
considered as a selected task since the inverted siphon needs to be drained
before inspection.

For third—class pump station which is less than 1,000Hp, the standard
dimensions have been determined by analysing the tectonic and civil facilities
managed by KRC. The standard dimensions for the tectonic facilities is 5.2m
width, 80m length and 4.4m height. For inlet water tank, the dimensions are
3.2m width, 4.9m length and 2.6m height and for the outlet water tank, 3.4m
width, 4.1m length and 29m height. The required manpower to diagnose
third-class pump station is a total of 33 persons: 5 civil engineers, 10

architectural engineers, 9 mechanical engineers and 8 electrical engineers.
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A3E A5 2Y(FA7IHA AL W3 FA 24)

D sg7Ieba el et s|~=¥ (Histogram) w4 AAl 0 A4,
1

g5

2) AlFT7HClass interval)& Stuges(1926)9] &21S ol & AHA
X X

max _ “‘min
3.221 X log,,(n)
oA7M Ax: AFTFIre A7)
Xzzax, )(min : ‘%] EH, ‘%]i%}]\-
n: AAARE A

Ax =

2. A=A

D @FFAETA BE AFA
O g AFA @ 336374

O 24 &gt e A @ 9la
O A A A 3269704
O HytAlFZol= 190.7m, AFxel= 11.5m= AFA 7IE7t4 3
Aol 7k 9l
(E 2-1) FFFA&FA #e AFA Ad
2Ha | A7t | w5 fra A | A | dFE | BFE
T Ay | ®wy | Wy | A5F | ¥el | o | 9% | aF

(d) (ha) (ha) (ha) (HFm') (m) (m) (m) (m)

max | 106 | 30,966 | 76,200 | 2,651 | 258,562 | 70.55 | 6,390 | 247.5 | 799.39

min 4 0.2 1 0.01 0.01 1.5 14 0.3 1.0

ol
L

549 | 1351 | 427 | 115 | 7222 | 11.5 | 190.7 | 19.7 | 63.4

. e

183 | 754.8 | 18133 | 59.2 | 55571 | 89 | 221.1 | 237 | 706

=
N




(& 2-2) 3542 FA B9 AFA ALY Iz ANd=

T A2 & A = o gk

3 A g 106
17hE AR ! 30,966 ha
pi ket AR FR 76,200 ha
T A cE ! 2,651 ha
FEATT AR ! 258,56271 m
Ag2 ol =% A4k B SF 6,390 m
A g 320l &%} &9 70.55 m
AR ol F(h ) ol F 2475 m
TrRdd AR X 799.39 m

- ASA Ageld] W@ =AM HAH 300me] FAEFES

89.4% <!

- Sl2EaEA A ATkl 600melst e gk 319671
97.8% <

- 600m~6,390m 3t A=A = 7370

- A=A ZlEtAel REd grem AsiA & KMAEAE FdAE

&)



(F 2-3) @FFAETA #8 AFA AGZHo =FEELE
A7 T L TR
(m) (7h &) ES %
0-50 135 135 4.1
51-100 684 319 25.1
101-150 883 1,702 52.1
151-200 975 2,277 69.7
201-250 393 2,670 81.7
251-300 251 2,921 89.4
301-350 108 3,029 92.7
351-400 55 3,084 94.3
401-450 45 3,129 95.7
451-500 31 3,160 96.7
501-550 18 3,178 97.2
551-600 18 3,196 97.8
3500 3196
3000
2500 -
4k 2000 —
i—i 1500 1—
1000 |
513;:: M % ¥ : & B 8 A4 Bbom @
o
c:""@@,»,@:} a@”@@%ﬁ“’nh@hﬁ“ﬁﬁ@”ﬁ%@@\’p@@”ﬁi ﬁh@@ i:“i @yﬁ;
"y iy WV ) H ta T = o
HZEZ0[(m)
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H'EZ0l(m)

<3¥ 2-2> FFFAEZETA BY AFA AGZolE =(1)

75.7%¢]
AR AF=olol sk =AM 7F AA-E 25me FIIEFIHS
92.0% <]




(B 2-4) 350 &3A #Y AFA AFEo =FEER

AF T2k =g RRAE
(m) (7h &) N %
0-5 871 871 26.6
6-10 1,053 1,924 589
11-15 549 2,473 75.7
16-20 335 2,808 85.9
21-25 200 3,008 92.0
26-30 101 3,109 95.1
31-35 54 3,163 96.8
36-40 54 3,217 98.4
41-45 27 3,244 99.2
46-50 11 3,255 99.6
51-55 8 3,263 99.8
56-60 2 3,265 99.9
61-65 3 3,268 100
66-70.55 1 3,269 100
1200

1053

PP D DD P PR DS DD
R S I L N LS L L o
AR A A R
©

H'g=0lm)

<3d¥ 2-3> FFFAETA B AFA AGEolE =F




2) Al &Y AFA

O g AFA 14,2067 2
O oFE 9 WF2E Aot &4 Qa4gke] v AFA 4970 &
O BEARAAFA 1 13,7197] &
O Al- & AFAF AFdo]l 19+ 9,920mAH A, 7)ol oL
291+ 2,170m(=W A, Bt
O HA AF4de] AFAE AQsta 5 Al-wtde] 4R o] AFAdo]
a2 89.6molil AFEol= 65m o
O Al-at &l AFA A= A o] Hlekst
(% 2-5) Al-& #F AFA AL
A3 A A
T B F0] 2 o] v a1
() (m) (m)
2,170
max 113 90 (9.920)
7.0
min 4 05 (2.2)
4t 58.4 6.5 89.6
= 13 35 65.8

@)

Stuges(1926)¢] &A1& o]g3st] 3 AT IoE EFRERE T8
2 AFT7H0~100m) <] %ﬂt’“ e 958570 AR 69.9%0] AL,
EA AFTH101~200m) 2] FrHES Fe 13,2437 A2 96.3% Y
A5 AgAolel gk Z=4u| 7} *é%%% 300me] F7HET g 99.2%%
AFdAol 7k 300mol Rl Al AFA = 10742 08% T+
AFAol7F 600me] st T/ gk 13,6987 A= 99.8% ¢

Al BE] AFAT AeA TEFALR A8 s AdEe]
15me F7=4 e 13375704 % 975% F=olH, AFA A
olo] tid =AuZF AAYE 25me ¥R e 136824 %

©)

O O O O



(£ 2-6) Al-& &8 AFA ABHo| =FREE

Ala -1t TR V=B
(m) (7N 2) e %
0-100 9,585 9,585 69.9
101-200 3,658 13,243 96.3
201-300 369 13,612 99.2
301-400 53 13,665 99.6
401-500 23 13,688 99.7
501-600 10 13,698 99.8
601-700 2 13,700 99.8
701-800 3 13,703 99.9
301-900 3 13,706 99.9
901-1,000 2 13,708 99.9
1,001-1,100 2 13,710 99.9
1,101-1,200 3 13,713 99.9
1,201-1,300 0 13,713 99.9
1,301-1,400 2 13,715 99.9
1,401-1,500 1 13,716 99.9
1,501-1,600 1 13,717 99.9
1,601-1,700 0 13,717 99.9
1,701-1,800 0 13,717 99.9

12000
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10000

2000

4k
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(& 2-7) A - & AFA AGEo] =FEERE

Ala 3t L TRk
(m) (71 42) e %
0-5 5,687 5,687 415
5.1-10 6,741 12,428 90.6
10.1-15 947 13,375 975
15.1-20 240 13,615 99.2
20.1-25 67 13,682 99.7
25.1-30 20 13,702 99.8
30.1-35 9 13,711 99.9
35.1-40 4 13,715 99.9
40.1-45 0 13,715 99.9
45.1-50 2 13,717 99.9
50.1-55 0 13,717 99.9
55.1-60 0 13,717 99.9
60.1-65 0 13,717 99.9
65.1-70 0 13,717 99.9
70.1-75 0 13,717 99.9
75.1-80 0 13,717 99.9
80.1-85 0 13,717 99.9
85.1-90 1 13,718 99.9
8000
. 6741
s000 3687
5000 -
4000 -
3000 -
2000
947
1002— “M67 209 4 0 2 0 D O O © O O 1
s - 2 RAEBHIFIIIFHEBRLERF
SSERLEHIEEEEEEEGE
H 2z 0] (m)

<3¥ 2-5> A -7 #FY AFA AGEolE =




O 1% WAl Aolel g 24u]7H AAH 800me] FIHES e %54%4]
O 1F WxA Zol7} 9,000m °]/d 47§4¢]
O WA 7FsA 1 047, wiFiE 7kEA 0 053
(X 2-8) 1¥ WEA dojd =EFEER
AT TR TPk
(m) (h ) Az %
0-1,000 31 31 28.7
1,001-2,000 27 58 53.7
2,001-3,000 15 73 67.6
3,001-4,000 11 34 77.8
4,001-5,000 6 90 83.3
5,001-6,000 7 97 89.8
6,001-7,000 4 101 93.5
7,001-8,000 2 103 95.4
8,001-9,000 1 104 96.3
9,001-10,000 1 105 97.2
10,001-11,000 2 107 99.1

35 31

S S S .«,@’Q

¥ & F FF FH H &
I @ AP

&

1ZY=H Z0](m)

<Y 2-6> 1F WEA| Zold =4



2) 2% WA
O AmEAe] A8H 2% LdxAE 1498714
O 2% WzA 7EHAe® A8 Y= WEA o] 1,000m7t EaH
AFTIE FAES ghe 1
O 2% WzA Aold ha zAu7F AAE 3000me FrEF FHe
1,476 7] 2, 985%%]

(X 2-9) 2% WEA 2ojd =5EER

Ala -1k SR TR
(m) (7 22) e %
0-500 974 974 65.0
501-1000 291 1,265 83.4
1001-1500 125 1,390 92.8
1501-2000 55 1,445 96.5
2001-2500 22 1,467 979
2501-3000 9 1,476 98.5
3001-3500 7 1,483 98.9
3501-4000 7 1,490 99.5
4001-4500 3 1,493 99.6
4501-5000 1 1,494 99.7
5001-5500 3 1,497 99.9
5501-6000 0 1,497 99.9
1200
1000 202
800 |
<k
d 600 -
™ 400 | 201
eili=-! SR 125
A il T - S - S
i
c:?’@ e 5“& f%g :ﬁ"@ :':“QQ ﬁ"ﬁa ,@G‘J p“*@ ﬁﬁpﬁ 9:"@ So“@
&> _@:9’ _\t,,d" "EQ"" {,6‘“ P g,p"' %ﬁd‘* 4;,6‘
2L EH(m)




4. F-wj+%

O Gl Fvheol wek 15 9l g(2000HP )% 2F -
Al =74(1,000~2,000HP) 2.2 7| &4 S Adstal U+

O FMEF A A FANVAYE FAAPU AFZANE FR
Mt mhE 209199 o7k Avlsty] wEe] 2w glo] /F

tlo

e

FARE AN LS
O 1%, 2% FulFHe AP J1F ANF A= 5919

O 1%‘ %k-ﬂﬂ? ol 5t SwpE2 35278HP, B+t AX = 564,

O 1% wWFdel A9 Friedol 2000HP~13200HPE H &v}e
oul Hoohelo] 65 ol Aolsk A, MAE F57] L g
]_

HL Y57t 2~ U R 2 Aol E Holw Qo] 2Fol BT

= =17

(& 2-10) 2,0009}3 o] & F-wl+3o FAKAL3AL)

T ' FTF v AR vk
max. 2,040 13,200 14 1,650
min. 0.813 2,000 2 350
it 56.4 3,527.8 5.6 716.7

A 259.7 1,748.4 1.9 256.7




3] 2~ % 713 (Histogram) =4 43}

(F 2-1D 1393 S0y =EF2ER

A2 L ThETE
(HP) (7h22) 7] 2 %
2,000-3,500 75 75 66.4
3,001-5,000 18 93 32.3
5,001-6,500 16 109 96.5
6,501-8,000 1 110 97.3
8,001-9,500 1 111 98.2
9,501-11,000 1 112 99.1
11,001-12,500 0 112 99.1
12,501-14,000 1 113 100

<29 2-8> 1FFNFF Fvg =F




(£ 2-12) 15¥sd AAds =T XX
AT LS bk
(=) (=) e %
2 2 2 1.8
3 5 7 6.2
4 30 37 32.7
5 31 68 60.2
6 18 86 76.1
7 7 93 82.3
8 12 105 92.9
9 5} 110 97.3
10 1 111 98.2
11 0 111 98.2
12 1 112 99.1
13 0 112 99.1
14 1 113 100
B L o =
o -

=L bR

<I¥ 2-9> 1F¢u+F AAds =5




2) 2%

O 2% Fulge A
A3t Avelee 391 3HP

0 2% FuFPe A%

- 5%

d

(o]

=

%o} o

o

1,000HP ~ 1,975HP°] 11,

FE 2 1,330HP, "t A= 414,
]

1% %

k7] W owgExzel U4t 2~8UlE 1E kw5 Ad HEkY
ol H kS Hola g
(¥ 2-13) 1,000~2,000u}3 <F-wj =3l 54 g (193712)
T % S HF vy A X o) 5= Hdwg
max 1,080 1,975 8 950
min 0.42 1,000 2 75
o3 24.7 1,330 4.1 391.3
X THA 103.8 268.2 1.3 127

A4d B g di7hr1Eel gk Hla 24

o Awrrte] AA

1. 7|E2AA =

Al A E 71 & T 34
ol awl
C T a 7o) 200m, °] 15m
1= WzA A% ¢ 3,000m
° W= A% 0 30m
Wz A
- P4 A4 1 1,000m
° W5 A% 6m
= Zul& A}
o . W) 1% =ul= 2 000Hp (1,471Kw)°] %
2% Zuld 1,000Hp (736Kw)o] A+
Hopy A4
- RN o B+2H=6m, Z°] 500m
- F=2Hd ©H 2R=3m, Z°] 500m
- W ETRE @ B+2H=15m, Z°] 500m
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